A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
49 1/2 Square
i i i i i i i i
30
DRAWN
Justin Trzeciak 7/29/2012
[CRECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Assembly
SCALE 1/20 SHEET 1 OF 18
2 1



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

2

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

1

&
N

1
o

o
o

49 1/2

Square

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

DRAWN
Justin Trzeciak 7/29/2012
[cHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWGNO REV
A Underside
SCALE 1710 SHEET 2 OF 18
2 1



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
{
I I ]
11/4
49 1/2 Square
DRAWN
Justin Trzeciak 7/29/2012
[cHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Lid
SCALE 1/10 SHEET 3 OF 18
2 1



PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

2 1
(-]
(=)
o]
Ho—— o O o f—o
B
o] = L
'_
O
o
(m)]
O
x
o
—
I
Z
o
'_
< 1
(@]
>}
(|
L
s
i | .
a
O
'_
2 25 3/4
pd
<C
>—
(a1
(|
L
O
.}
(m] 1
e ( T \
v
o
" i
A[PRAWN
Justin Trzeciak 7/29/2012
[cHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Leg Assembly
SCALE 1/10 SHEET 4 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

2

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

1

Vertical Leg

AP

Short Base Legs (

31/2

31/2 !
~—171/4

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

31/2 1A 7~ -
Long Base Leg I ( \ f
45°
A Y
~ 36 "]
All legs cut from 1 x 4 boards
DRAWN
Justin Trzeciak 7/29/2012
|CHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Legs
SCALE 1/10 SHEET 5_OF 18

1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

2 1
LI 1 1 1 +
I II | | | | I I
!
3/4
B
5 11/16 11/2
2 ¥
(m]
e / \ ,
% [ ‘K —q} 45°
E 11/2 B1/2 x 4 \(
< |
S
i A
'
g N
(m]
= |
) @2
<
=z
: & &
o AN /
(@)
2
(m]
o)
v
o
«— 11 1/4 Square ———
A[PRAWN
Justin Trzeciak 7/29/2012
[CRECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Plate w/ Holes
SCALE 1/4 SHEET 6 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
3/4
51/2
9
DRAWN
Justin Trzeciak 7/29/2012
[cHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Riser
SCALE 172 SHEET 7 OF 18
2 1



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
3/4
L 1 1 | | ‘
}
~—14 1/16# 19 7/84‘
I
‘ 45°
¢1/2x12>( |
/ #> N
22.5° 7/ + + %
1 41/8
e
|
AN /
L_—_4 1/8/
48 Square
DRAWN
Justin Trzeciak 7/29/2012
|cHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Surface w/ Holes
SCALE 1/10 SHEET 8 OF 18
2 1



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
3/8
6'7.52\ 7//k
\|= 12 41/64 Jl
Length before cutting the notch is 13 1/4.
3/4—= |-
13 3/64
1/4—= ’__
—T ~—1/4
M= }
| | T 2

N 5 IR
DRAWN
Justin Trzeciak 7/29/2012
|CHECKED

TITLE
lQA
MFG Poker Table
APPROVED

SIZE DWG NO REV
A Inner Rails
SCALE 1/4 SHEET 9 OF 18
2 1



PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

2 1
3/4 1/4
i 1/4
/ T T 7
— A — — — — {1 1
\ ] ] \ I
° +
67.5°
|_
(@)
o
(m)]
o)
x
o
—
I
Z
o
|_
<€
O
>}
m
% | /I
e ‘ |
S |
o
2 212 | 2 1/4
z |
< l | | l
>—
@ |
(|
L
(@)
a R1/2
o)
x
o
93/8
A [DRAWN
Justin Trzeciak 7/29/2012
[CHECKED
TITLE

lQA

MFG Poker Table

APPROVED

SIZE DWG NO REV
A Middle Rails
SCALE 172 SHEET 10 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

2 1
1/4
* |
“\ \V l’ ? +
! ¢
5 3/4 4
3/8 67.5°
|_
(@]
o
(m)]
O
x
o
-
$ 20 1/2
o
|_
<€
O
>}
(|
L
s
| —T
g 31/4 ;
|_
<€
>_
(a1
(|
L
(@]
.}
a
O
x
o
A |PRAWN
Justin Trzeciak 7/29/2012
ICHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Outer Rails
SCALE 1/4 SHEET 11 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

2 1
| |
1/4 " 20 1/2 _‘ 3/4
{ ‘ . | | |
} \ 7 *
67.5°
1/4 4
11/4 l

| 1
DRAWN
Justin Trzeciak 7/29/2012
[CHECKED

TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Top Rails
SCALE 1/4 SHEET 12 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

2 1
T T
| |
@1/2
‘/112.5° — — —— — 21/2
1
. 3/4_»
DRAWN
Justin Trzeciak 7/29/2012
[cHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Bracket
SCALE  Ful SHEET 13 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
19 13/16
81/2
112.5°
= 12 25/32 -
1/4
+ L 1 I
}
DRAWN
Justin Trzeciak 7/29/2012
[CHECKED
TITLE
lQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Glass
SCALE  1/4 SHEET 14 OF 18
2 1



A

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d M@IGO_LHV NV A9 d30NA0yd

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT

2 1
12 27/32
9 3/16
31 Square
45°__|
1/2
+ €L | ] | A |
!
DRAWN
Justin Trzeciak 7/29/2012
[CRECKED
TITLE
IQA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Felt Assembly
SCALE 1/8 SHEET 15 OF 18
2 1



2

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT
v}

>

ATX POWER SUPPLY

12v

[n]
z
=1

1
Sv

POWER ON

v}

12NAaodd 1vNOILvONa3 MﬁlGOlﬂV NV A9 d30NA0dd

=

O[O[0|O[O|O|powER DISTRIBUTION
Q|o[olo[e|@|STRIP
TABLE-TOP
L - TERMINAL
Surton bl
O|G V+ V+
OJ olop ——| & LED STRIP B =
o|c — GND GND [—
VeV o _PUSFHEIFLrTTTEIN RIS s
HORN RST : SCK|— O|61 ‘I:e S,
AREF MISO|— ©| O |G
ARDUIND M3 =< olet—©
ETHERNET ~D9 g {o[ot—© S -
—1 | S B Y I RN F A
~ 100
5 pes R A ol ole
A3 -3 37 |Gy O |G
o ] olet—© o[e
Dof ©| O O|C
GND g O O O|C
xS MSEQ INTERNAL REMOTE 10K
> > > TERMINAL 1 TERMINAL 101 COLOR POT
é< é( é( STRIP STR LOCATION
POT
X3 3 X 4 PIN
CONNECTOR
DRAWN
Justin Trzeciak 7/29/2012
CHECKED
TITLE
QA
MFG Poker Table
APPROVED
SIZE DWG NO REV
A Electrical Schematic
SCALE
SHEET 16 OF 18
2

PRODUCED BY AN AUTODESK EDUCATIONAI PRODUCT



PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

2 1
Lumber
Item Use Material Size Length Qty Total Length
Plate Oak Board 1x12 11 1/4 3 33 3/4
Top Rall Oak Board 1x2 20 1/2 8 164
Bracket Oak Board 1x3 4 8 32
Middle Rail Oak Board 1x3 9 3/8 8 75
Inner Rail Oak Board 1x3 13 1/4 8 106
Vertical Leg | Oak Board 1x4 14 172 4 58
Short Leg Oak Board 1x4 17 1/4 4 69
QOuter Rail Oak Board 1x4 20 1/2 8 164
Long Leg Oak Board 1x4 36 2 72
B Riser Oak Board 1x6 9 2 18
Felt Plywood| Oak Plywood 1/4 4x4 1 4 x4
Surface Oak Plywood 3/4 4x8 1 4 x8
Hardware
— Item Size Length Qty
9 Acrylic 11x14 0.093 1
8 Acrylic 36x72 0.220 1
& Angle Brackets 4-Mar 8
_. Double Sided Tape 1/2 1 8
Z Felt 1/4x60 1 1
,9 Glue 8 oz 1
S Hex Bolts 3/8-16 2 12
2 Leg Levelers 3/8-16 3 1/2 1
L:'CJ Machine Screws #4-40 3/4 8
‘Lﬁ'B' Machine Screws #6-32 1/2 6
a) Metal Screws #6 1/4 8
= Metal Screws #6 3/4 2
2 Name Plate 3 1/2 1
Z Padding 59 1 1
> Polyurethane 1 quart 1
2 Pre-Stain 1 quart 1
3] Silicone Sealant 2.8 0z 1
2 Stain 1 quart 1
Q Tee Nuts 3/8-16 7/16 12
o Washers #4-40 10
Washers #6-32 10
Washers 3/8 7/8 12
Wood Screws #7 1 1/2 100
A [DRAWN
Justin Trzeciak 7/29/2012
|CHECKED
TITLE
IQA
MFG Poker Table
APPROVED
DWG NO REV
Lumber+Hardware BOM
SHEET 17 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



PRODUCED BY AN AUTODI@K EDUCATIONAL PRODUCT

10Naodd 1vNOoIlLvOoNad3d MﬁlGOlﬂV NV A9 d30NA0yd

2 1
Item Name Description Qty
4 pin Connectors 3
Arduino Uno 1
Breadboard Half-size 1
Cable Gland PG-9 size 3
DC Connector 2.1mm plug 1
Electrical Tape
B Enclosure/PS Apevia X-Fit 100 1
Ethernet Cable 20ft 1
Ethernet Cable 2t 1
Ethernet Jack Surface Mount 1
— Ethernet Shield 1
S Hook up Wire 24AWG
g JST SM Receptacle 4-pin 1
x Jumper Kit Various Sizes 1
= Knobs to fit Pot 4
4 Lights Digital Strip 3
= Mounting Plate | Arduino+Breadboard 1
S Potentiometers 10k 4
2 Power Strip 6 Outlet 1
" Resistors Various Sizes, 1/4watt 6
i | Small Enclosure 5x2.5x2 1
Q Terminal Strip 12 position euro 1
= Terminal Strip 6 position standard 2
2 Terminal Strip 8 position euro 1
Z Toggle Switches SPST 3
> Zip Ties
m
o
L
@)
2
a
@)
x
o
A [DRAWN
Justin Trzeciak 7/29/2012
|CHECKED
TITLE
IQA
MFG Poker Table
APPROVED
SIZE DWGNO REV
A Electrical BOM
SCALE SHEET 18 OF 18
2 1

PRODUCED BY AN AUTODESK EDUCATIONAI PRODLUICT



